
英语六级模拟试卷(29)--词汇 PDF转换可能丢失图片或格式，

建议阅读原文

https://www.100test.com/kao_ti2020/293/2021_2022__E8_8B_B1_

E8_AF_AD_E5_85_AD_E7_c67_293102.htm Part ⅢVocabulary

(20 minutes)41.In American universities, classes are often arranged

in more flexible ____ and many jobs on campus are reserved for

students.A） scales B） patterns C） grades D） ranks42.Once the

vice-chancellor of a university is ____, he begins his term of office.A

） launched B） commencedC） inaugurated D） initiated43.The

company decided to ____ for some assistants in the local

newspaper.A） advertise B） advocateC） activate D）

inherit44.The firm ____ in producing cheap transistor radios.A）

exerts B） excelsC） energizes D） exploits45.I don’t really know

John all that well. he’s just a ____ acquaintance.A） random B）

formalC） casual D） haphazard46.The ____ from childhood to

adulthood is always a critical time for everybody.A） conversion B

） transitionC） turnover D） formation47.Most nurses are

women, but in the higher ranks of the medical profession women are

in a ____.A） scarcity B） minorityC） minimum D） shortage48.

Prof. Smith spoke clearly and ____ and we could understand every

word he said.A） distinctlyB） distressfullyC） distractinglyD）

distinctively49. Because of a ____ in her hearing, the teacher gave her

a seat in the front row.A） error B） mistakeC） blunder D）

defect50.A budget of five dollars a day is totally ____ for a trip round

Europe.A） inadequate B） incapableC） incompatible D）

invalid51.If the world is to remain peaceful, the utmost effort must be



made by nations to limit local ____.A） collisions B） combatsC）

contradictions D） conflicts52. In the past ten years skyscrapers have

developed ____ in Chicago and New York City.A）

homogeneouslyB） simultaneouslyC） spontaneouslyD）

harmoniously53.The basic causes are unknown, although certain

conditions that may lead to cancers have been ____.A） identified B

） guaranteedC） notified D） conveyed54.Bill is an example of a

severely disabled person who has become ____ at many survival

skills.A） proficient B） persistentC） consistent D）

sufficient55.The United Nations Conference on Drug Abuse, which

took place earlier this year in Vienna, was a very ____ meeting.A）

compulsory B） protectiveC） productive D） extravagant56.The

team will have to do well to win a medal at the Olympic Games,

where they will face ____ competition from several countries.A）

harsh B） rigidC） rough D） stiff57.His ____ for her made him

unhappy, because she did not love him in return.A） affection B）

attractionC） partition D） passion58.Mary’s mother had to ____

her dress because Mary is growing so tall. A） let off B） let goC）

let out D） let loose59.This ticket ____ you to a free meal in our new

restaurant.A） confers B） entitlesC） grants D） credits60.Your

latest project has little ____ of success.A） prediction B）

prophecyC） prospect D） preview61.The new washing machines

are ____ at the rate of fifty a day.A） turned up B） turned downC

） turned out D） turned in62.The fact that he annoyed you does

not ____ your treating him in that way.A） justify B） identifyC）

rectify D） modify63.Everyone approved of the scheme but when



we asked for volunteers they all ____.A） hang about B） hang onC

） hang back D） hang up64.People who refuse to ____ with the

law will be punished.A） obey B） concealC） consent D）

comply65.Everyone has a legal ____ to provide the tax office with

details of their earnings.A） oath B） obligationC） optimum D）

orientation66.It took a lot of imagination to come up with such an

____ plan.A） inherent B） ingeniousC） infectious D）

indulgent67.The microscope can ____ the object 100 times in

diameter.A） magnify B） increaseC） develop D）

multiply68.Mrs. Lackey was awakened by the ringing of the bedside

phone 12 hours. after her husband’s boat had been ____.A）

wrecked B） collapsedC） decayed D） fired69.They tried to

prevent the marriage but it took place ____. 100Test 下载频道开通
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